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B B =8 B=E 38 43] 81| 20.0/ 61.0BG =
228 MK R 42| 44] 86| 21.0/ 65.0/ &
ML |[EA E# 4 44| 85 18.0| 67.0/&
M |RE & 4 42| 83| 15.9] 67.1/&
5 AKX BE 47 51 98] 30.0 68.0/E
6 k% H 47 51 98] 30.0/ 68.0
L |EF = 4 42| 83/ 14.0/ 69.0
8L | KHE == 45 43] 88| 19.0] 69.0
O |MA i 44| 44] 88| 18.8] 69.2
1062 |[RA 1EF 42| 42] 84| 13.5] 70.5|&
162 |Hd FH 39| 46/ 85| 14.0/ 71.0
1261 R 2 450 M 86| 15.0/ 71.0
1361 | ¥— 48] 46] 94| 23.0/ 71.0
1461 | Tt &RFE 43 45| 88| 16.4] 71.6
1562 |[|R =EB 46| 39| 85| 13.2] 71.8
1661 [BEH EE 43 43] 86| 14.0] 72.0
176 |FEL 4 44 46] 90| 17.3] 72.7
184 |l 1HBA 48] 44] 92| 19.2] 72.8
196 [Fixk R 47 43] 90| 17.1] 72.9
206 | AE @EE 42| 43] 85 12.0] 73.0/&
2160 |31/ Wt 43 42] 85| 12.0] 73.0
2261 [#hA E—ER 45 41 86| 13.0] 73.0
2361 |/ BR# 43 48] 91| 18.0] 73.0
2441 &= F 45/ 53] 98] 25.0] 73.0
2561 | K& — 45 45| 90| 16.9] 73.1
266 |5 BIF 43 42| 85| 11.5] 73.5
2711 A% =ER 43 44] 87| 13.2] 73.8
2851 |[EHE ¥— 42| 45 87| 13.1] 73.9
200 MK Ei# 42| 45 87| 13.0] 74.0
0z (A = 56| 45| 101| 27.0] 74.0/&
3L /N E= 45 57| 102 28.0] 74.0
N2 | XFE & 54 50/ 104| 30.0/ 74.0
B | KR = 42| 44] 86| 11.7] 74.3
M BB BT 44 51 95/ 20.0/ 75.0
3541 [#EE  FtEA 45 52 97| 21.7] 75.3
6 ER Eth 46| 45 91| 15.6] 75.4
37z AR Bh= 45/ 50/ 95| 19.6] 75.4
L A FE 40 47) 87| 11.3] 75.7
9 R FE 43 45 88| 12.3] 75.7
4061 [FEH FE 49 49] 98] 22.1] 75.9/&
M AR —X 48] 50/ 98] 22.1] 75.9
2 [FEH BA 40/ 50/ 90| 14.0] 76.0
A3 [EAE ME 45 47] 92| 15.9] 76.1
U R R 46|  44] 90| 13.2] 76.8
4561 M # 51 48] 99| 22.1] 76.9
[ ATTE D) 471 49] 96| 19.0] 77.0
461 &% = 45 52| 97| 19.6] 77.4
8 KA AEF 43 47 90| 12.1] 77.9
96 [BAX AmA 50 49| 99| 21.1] 77.9
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5061 [lREA =X 471 49] 96 18.0] /8.0 &
51 [ KA § AT 51] 98] 20.0/ 78.0
5261 (B # 50 41] 91| 12.9] 78.1
5 EE Bl A4 46) 90| 11.7] 78.3
bA4f [1BIR  FX AT 47] 94/ 15.0/ 79.0
b5 [JtE EH AT 49] 96| 16.8] 79.2
56 MK BEF 51 49/ 100/ 20.7| 79.3
N FEEEEERRS 53| 52| 105 25.3] 79.7
581 |EIL BEE 48] 50/ 98] 18.2] 79.8
501 | Fik RIC 45| 53] 98] 17.9 80.1
60z BRE Z% 51 52| 103 22.0/ 81.0/&
61 HP EE 53] 58] 111] 30.0/ 81.0
621 |{EiE BF 48] 51 99 17.5 81.5
631 B EZ 50 46/ 96| 14.4] 81.6
64 |HFH RER 44 56/ 100 18.4 81.6
651 |4%EM X 46] 53] 99 16.5 82.5
661 |FEwm EBEEF 49 47 96| 13.2] 82.8
675 [’ A 45| 64] 109 26.0 83.0
68 |[R —ER 52| 50/ 102] 18.8] 83.2
SRR A 51  47] 98] 14.0 84.0
10 = BF 52| 56| 108 23.4] 84.6/ &
T (BA —&K 49] 59/ 108 23.0/ 85.0
261 B B’F 57 58] 115/ 30.0 85.0
136 [BX B 51 48] 99| 13.8] 85.2
IS 50/ 55| 105 18.4] 86.6
IR 53] 54| 107| 19.8] 87.2
1661 Eif IEEE 50/ 53] 103] 15.7| 87.3
T Kk @& 56/ 55| 111 22.8] 88.2
786 | AKH KKEB 57 57| 114 25.0/ 89.0
796 Lo &R 45 60| 105/ 15.7 89.3
80T |%& =EB 53] 60| 113 22.8 90.2/&
816 |B\A AT 57| 104 13.0/ 91.0
826 [RE B 65| 620 127 29.2] 97.8
831 | K&HF IXHA 51 60/ 111 13.0/ 98.0/BB
84t Lo B2 58] 62/ 120/ 21.7] 98.3
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